

On an Extension of Green's Relation and a Structure of Semigroup

Yukio KOBAYASHI (小林 由紀男)

Faculty of Engineering, Tamagawa University

Abstract

This paper contains an attempt to discuss some properties of relations induced by translations, including distribution of idempotents. We will begin with start two equivalence relations, give some results to be used frequently and show a distribution of idempotents. In fact it will be shown in "1.Introduction and Preliminaries" that the two relations are relations including Green's relations. Using the relations, we will discuss idempotents which behave as left or right identities in equivalence classes induced by the relations. In the last section, as an application of the properties of idempotent and a semigroup extended by translations shown here, some special class of semigroups, abundant semigroups, will be discussed, which is closely related with the distribution of idempotents.

1 Introduction and Preliminaries

Throughout this paper, $\Psi_L(S)$ will denote the semigroup of all left translations of a semigroup S , and $\Psi_R(S)$ will denote the semigroup of all right translations of S .

If S is any semigroup and $a, b \in S$, we say that $x \prec_L y$ if and only if for any $\psi, \phi \in \Psi_L(S)$, $\psi(x) = \phi(x)$ implies $\psi(y) = \phi(y)$, and $x \prec_R y$ if and only if for any $\mu, \gamma \in \Psi_R(S)$, $\mu(x) = \gamma(x)$ implies $\mu(y) = \gamma(y)$. Let us also define two equivalence relations Π_L and Π_R as follows: $x \Pi_L y$ if and only if $x \prec_L y$ and $y \prec_L x$, and $x \Pi_R y$ if and only if $x \prec_R y$ and $y \prec_R x$.

We define Π_H as the intersection of Π_L and Π_R , and Π_D as the union of Π_L and Π_R .

Now $S = \bigcup_{a \in S} \Pi_L(a)$, $S = \bigcup_{b \in S} \Pi_R(b)$, and $S = \bigcup_{a, b \in S} \Pi_H(a, b)$ stand for the partitions induced by the equivalence relations Π_L , Π_R and Π_H , and $\Pi_L(a)$, $\Pi_R(b)$ and $\Pi_H(a, b)$ will be called Π_L -class including a , Π_R -class including b and Π_H -class including a and b , respectively.

Now we can define two semigroups, $T_R = S \cup \Psi_R(S)$ and $T_L = S \cup \Psi_L(S)$ with S as right and left ideals, respectively.

(1) Let x, y be any elements of S and ψ, ϕ be any elements of $\Psi_R(S)$, and the operation $\odot$ on T_R will be defined as follows: $x \odot y = x \cdot y, x \odot \psi = \psi(x), \psi \odot x = \psi \circ r_x, \psi \odot \phi = \psi \circ \phi$, where $\cdot$ is the operation on the semigroup S , $\psi \circ \phi$ is defined by $\psi \circ \phi(z) = \phi(\psi(z))$ and r_x is the right translation on S defined by $r_x(z) = z \cdot x$ for all $z \in S$.

(2) Let x, y be any elements of S and μ, γ be any elements of $\Psi_L(S)$, and the operation $\odot$ on T_L will be defined as follows: $x \odot y = x \cdot y, x \odot \mu = l_x \circ \mu, \mu \odot x = \mu(x), \mu \odot \gamma = \mu \circ \gamma$, where $\cdot$ is the operation on the semigroup S , $\mu \circ \gamma$ is defined by $\mu \circ \gamma(z) = \mu(\gamma(z))$ and l_x is the left translation on S defined by $l_x(z) = x \cdot z$ for all $z \in S$.

To show that T_R and T_L are semigroups, it is necessary that the following eight equations hold for all $x, y \in S$ and $f, g \in \Psi_R(S)$ and $\Psi_L(S)$, respectively.

$$\begin{array}{ll}
 (1) (x \odot y) \odot z = x \odot (y \odot z) & (5) (f \odot g) \odot h = f \odot (g \odot h) \\
 (2) (x \odot f) \odot g = x \odot (f \odot g) & (6) (f \odot x) \odot y = f \odot (x \odot y) \\
 (3) (x \odot f) \odot y = x \odot (f \odot y) & (7) (f \odot g) \odot x = f \odot (g \odot x) \\
 (4) (x \odot y) \odot g = x \odot (y \odot g) & (8) (f \odot x) \odot g = f \odot (x \odot g)
 \end{array}$$

It will be shown that equations (1) to (8) hold on T_R as follows:

Let $f = \psi \in \Psi_R$ and $g = \phi \in \Psi_R$.

(1) and (5): Since S and $\Psi_R(S)$ are semigroups, it is obvious that $(x \odot y) \odot z = x \odot (y \odot z)$ and $(f \odot g) \odot h = f \odot (g \odot h)$.

(2): $(x \odot \psi) \odot \phi = \psi(x) \odot \phi = \phi(\psi(x)) = \psi \circ \phi(x) = x \odot (\psi \odot \phi)$

(3): $(x \odot \psi) \odot y = \psi(x) \odot y = \psi(x) \cdot y$ and $x \odot (\phi \odot y) = x \odot (\psi \circ r_y) = r_y(\psi(x)) = \psi(x) \cdot y$.

(4): $(x \odot y) \odot \phi = \phi(x \cdot y) = x \cdot \phi(y)$ and $x \odot (y \odot \phi) = x \odot \phi(y) = x \cdot \phi(y)$.

(6): $(\psi \odot x) \odot y = (\psi \circ r_x) \odot y = (\psi \circ r_x) \cdot y = \psi \circ r_x \circ r_y$ and $\psi \odot (x \odot y) = \psi \odot (x \cdot y) = \psi \circ r_{x \cdot y}$.

Since $r_{x \cdot y}(z) = z \cdot (x \cdot y) = (z \cdot x) \cdot y = r_y(r_x(z)) = (r_x \circ r_y)(z)$, $\psi \circ r_{x \cdot y} = \psi \circ r_x \circ r_y$.

(7): $(\psi \odot \phi) \odot x = (\psi \circ \phi) \odot x = \psi \circ \phi \circ k_x = \psi \circ (\phi \circ r_x) = \psi \circ (\phi \odot x) = \psi \odot (\phi \odot x)$.

(8): $(\psi \odot x) \odot \phi = (\psi \circ r_x) \odot \phi = (\psi \circ r_x) \circ \phi$ and $\psi \odot (x \odot \phi) = \psi \odot \phi(x) = \psi \circ k_{\phi(x)}$. Since for any $z \in S$, $((\psi \circ r_x) \circ \phi)(z) = \phi((\psi \circ r_x)(z)) = \phi(r_x(\psi(z))) = \phi(\psi(z) \cdot x) = \psi(z) \cdot \phi(x)$ and $(\psi \circ k_{\phi(x)})(z) = r_{\phi(x)}(\psi(z)) = \psi(z) \cdot \phi(x)$, we have $(\psi \circ r_x) \circ \phi = \psi \circ k_{\phi(x)}$.

It is also shown that equations (1) to (8) hold on T_L similarly.

In fact, from the definition of the operation on T_R , $x \odot y = x \cdot y \in S$ and $x \odot \psi = \psi(x) \in S$ for any $x, y \in S$ and $\psi \in \Psi_R(S)$ imply that S is a right ideal of T_R . $\psi \odot x = \psi \circ r_x \in \Psi_R$ and $\psi \odot \phi = \psi \circ \phi \in \Psi_R$ for any $x \in S$ and $\psi, \phi \in \Psi_R$ imply that Ψ_R is a right ideal of T_R .

It is shown that S is a left ideal of T_L and Ψ_L is a left ideal of T_L .

We begin with a brief list of some basic results without proof, which will be used throughout the paper.

Lemma 1.

- (1) If $x \in \Pi_R(y)$, then $x \odot t \in \Pi_R y \odot t$ for all $t \in T_R$;
- (2) If $x \in \Pi_L(y)$, then $t \odot x \in \Pi_L t \odot y$ for all $t \in T_L$.

Lemma 2.

- (1) $x \prec_L xu$ for all $x, u \in S$;
- (2) $x \prec_R vx$ for all $x, v \in S$.

It is also easily shown that $\mathcal{R} \subseteq \Pi_L \subseteq R^*$, $\mathcal{L} \subseteq \Pi_R \subseteq L^*$ and $\mathcal{H} \subseteq \Pi_H \subseteq H^*$ for the Green's relations $\mathcal{R}$, $\mathcal{L}$ and $\mathcal{H}$, and the relations R^* , L^* and H^* defined by J. Fountain and others. They called that a semigroup in which each R^* - class and each L^* - class contains an idempotent is an abundant semigroup. In particular, if a semigroup is regular, then $\mathcal{R} = \Pi_L = R^*$, $\mathcal{L} = \Pi_R = L^*$ and $H = \Pi_H = H^*$.

2 Idempotent As a Local Identity

Let S be an semigroup, then we have the following lemmas which show that idempotent behaves as left or right identity elements in Π_L - class or Π_R - class, respectively.

Lemma 3. Let e be any element of S , then

- (1) e is an idempotent if and only if $e \cdot t = t$ for all $t \in \Pi_L(e)$;
- (2) e is an idempotent if and only if $s \cdot e = s$ for all $s \in \Pi_R(e)$.

Proof. (1) It is trivial that $e \cdot e = e$, since $e \in \Pi_L(e)$. Conversely, assume that e is an idempotent, that is, $e \cdot e = e$, then from the definition of the inner left translation, $e \cdot e = f_e(e) = e = I(e)$ implies that $e \cdot t = f_e(t) = I(t) = t$ for all $t \in \Pi_L(e)$, where I is the identity mapping and f_e is the inner left translation.

(2) is shown similarly.

Q.E.D.

Lemma 4. Let e be any idempotent of S , then

- (1) For any element $t \in T_L$ and any element $s \in \Pi_L(e)$, there exist an element $u \in \Pi_L(t \odot s)$ such that $t \odot s = u \cdot s$;
- (2) For any element $t \in T_R$ and any element $s \in \Pi_R(e)$, there exists an element $v \in \Pi_R(s \odot t)$ such that $s \odot t = s \cdot t$.

Proof. (1) It is sufficient to show that for any $\psi \in \Psi_L(S)$ on S and any $s \in \Pi_L(e)$, $\psi(s) = u \cdot s$ for some $u \in \Pi_L(\psi(s))$. It follows from the fact that $\psi(s) = \psi(es) = \psi(e) \cdot s$ for any element $s \in \Pi_L(e)$ (from Lemma 3) and $u = \psi(e) \in \Pi_L(\psi(s))$ (from Lemma 2).

(2) is shown similarly.

Q.E.D.

Lemma 5. Let e and f be any idempotents of S .

(1) If $e \in \Pi_L(f)$ then e is an inverse of f ;

(2) If $e \in \Pi_R(f)$ then e is an inverse of f .

Proof. (1) We have $e \cdot f \cdot e = e \cdot (f \cdot e) = e \cdot e = e$ from Lemma 3 and that f is an idempotent in $\Pi_L(e)(= \Pi_L(f))$. Similarly it is shown that $f \cdot e \cdot f = f \cdot (e \cdot f) = f \cdot f = f$. Q.E.D.

From above lemmas, it is shown that each Π_H -class contains a unique idempotent if it has.

Theorem 1. For any elements $a, b \in S$, the Π_H -class, $\Pi_L(a) \cap \Pi_R(b)$, cannot have more than one idempotent.

Proof. Assume that e and f be idempotents in a Π_H -class, $\Pi_L(a) \cap \Pi_R(b)$, that is, $e, f \in \Pi_L(f) \cap \Pi_R(f) = \Pi_L(e) \cap \Pi_R(e)$. Then $f = f \cdot e \cdot f = f \cdot (e \cdot f) = e \cdot f = e$ from Lemma 3. Q.E.D.

Lemma 6. For any elements $a, b \in S$, if $\Pi_R(a) \cap \Pi_L(b)$ contains an idempotent then $ab \in \Pi_L(a) \cap \Pi_R(b)$.

Proof. Assume that e is an idempotent in a Π_H -class such that $e \in \Pi_R(a) \cap \Pi_L(b)$, that is, $a \in \Pi_R(e)$ and $b \in \Pi_L(e)$. Then from Lemma 2 and Lemma 3, we have that $r_b(a) \in \Pi_R(r_b(e))$ for the inner right translation r_b such that $r_b(a) = a \cdot b$ and $r_b(e) = e \cdot b = b$, since $e \in \Pi_L(b)$. Thus $a \cdot b \in \Pi_R(b)$. Similarly, we have that $l_a(b) \in \Pi_L(l_a(e))$ for the inner left translation l_a such that $l_a(b) = a \cdot b$ and $l_a(e) = a \cdot e = a$, since $e \in \Pi_R(a)$. Thus $a \cdot b \in \Pi_L(a)$. Q.E.D.

Lemma 7. For any element $a \in S$, the following conditions are equivalent:

(1) $\Pi_R(a)$ contains an idempotent;

(2) For element $t \in T_R$, there exist an element $u \in \Pi_R(a \odot t)$ such that $a \odot t = a \cdot u$.

Proof. (1) $\rightarrow$ (2): Let e be an idempotent in $\Pi_R(a)$, then from Lemma 4, we have that for any element $t \in T_R$, there exists an element $u \in \Pi_R(a \odot t)$ such that $a \odot t = a \cdot t$.

(2) $\rightarrow$ (1): Let I be the identity translation (which is also in T_R), then there exists an element $u \in \Pi_R(I(a)) = \Pi_R(a)$ such that $I(a) = a \cdot u$. From the fact that $u \in \Pi_R(a)$, $a \cdot u = r_u(a) = I(a)$ implies that $u \cdot u = r_u(u) = I(u) = u$. Thus u is an idempotent in $\Pi_R(a)$. Q.E.D.

Similarly, we also have

Lemma 8. For any element $b \in S$, the following conditions are equivalent:

- (1) $\Pi_L(b)$ contains an idempotent;
- (2) For any element $t \in T_L$, there exist an element $v \in \Pi_L(t \odot b)$ such that $t \odot b = u \cdot b$.

3 Strictly Abundant Semigroup

From Lemma 4, it will be easily shown that a semigroup is abundant if and only if each Π_R - class and each Π_L - class contains an idempotent. We will call a semigroup strictly abundant if each Π_H - class contains an idempotent. The following theorem is also a direct result from above lemmas, which shows that strictly abundant semigroup is a disjoint union of semigroups.

Lemma 9. Let $\Pi_H(e)$ and $\Pi_H(f)$ are any Π_H - classes which contain idempotents e and f .

- (1) If the Π_H - classes, $\Pi_H(e)$ and $\Pi_H(f)$ are included in a same Π_R - class, then there exists a homomorphism from $\Pi_H(e)$ onto $\Pi_H(f)$;
- (2) If the Π_H - classes, $\Pi_H(e)$ and $\Pi_H(f)$ are included in a same Π_L - class, then there exists a homomorphism from $\Pi_H(e)$ onto $\Pi_H(f)$.

Proof. (1) The mapping $\rho : \Pi_H(e) \rightarrow \Pi_H(f)$ is defined by $\rho(s) = f \cdot s \cdot f$, for $s \in \Pi_H(e)$. Assume that $s, t \in \Pi_H(e)$, then $\rho(s) \cdot \rho(t) = (f \cdot s \cdot f) \cdot (f \cdot t \cdot f) = f \cdot s \cdot f \cdot f \cdot t \cdot f = f \cdot s \cdot f \cdot t \cdot f = f \cdot s \cdot t \cdot f = \rho(s \cdot t)$, since $s \in \Pi_R(f)$. Thus the mapping $\rho : \Pi_H(e) \rightarrow \Pi_H(f)$ is a homomorphism. Let t be any element in $\Pi_H(f)$, that is, $t \in \Pi_L(b)$. Since $e \in \Pi_R(e) \cap \Pi_L(t)$, we have $e \cdot t \cdot e = e \cdot t \in \Pi_R(t) \cap \Pi_L(e) = \Pi_R(e) \cap \Pi_L(e) \in \Pi_H(e)$ from Lemma 3 and Lemma 6. And $\rho(e \cdot t \cdot e) = f \cdot e \cdot t \cdot e \cdot f = (f \cdot e) \cdot t \cdot (e \cdot f) = f \cdot t \cdot e = f \cdot (t \cdot e) = f \cdot t = t$.

(2) is similarly shown.

Q.E.D.

Corollary 1. For any elements $a, b \in S$, $\Pi_R(a) \cap \Pi_L(b)$ contains an idempotent if and only if $\Pi_R(a) \cap \Pi_L(b)$ is a monoid.

Theorem 2. Let S be any strictly abundant semigroup, the S is a disjoint union of monoids.

Corollary 2. Let $\Pi_H(e)$ and $\Pi_H(f)$ are any Π_H - classes which have idempotents, e and f , respectively.

- (1) If two Π_H - classes, $\Pi_H(e)$ and $\Pi_H(f)$ are included in a same Π_R - class, then $\Pi_H(e)\Pi_H(f) \subseteq \Pi_H(e)$;
- (2) If two Π_H - classes, $\Pi_H(e)$ and $\Pi_H(f)$ are included in a same Π_L - class, then $\Pi_H(e)\Pi_H(f) \subseteq \Pi_H(f)$.

References

- [1] Clifford, A and Peterson, G The Algebraic Theory of Semigroups, Amer. Math. Soc. Math Surveys No.7, Providence, R.I., Vol 1(1967), Vol.2(1967).
- [2] Jones, P. Joins and Meets of Congruences on a Regular Semigroup, Semigroup Forum, 30(1984) 1 - 6.
- [3] Koch, R. Sandwich Sets and Partial Order, Semigroup Forum, 30(1984), 53 - 66.
- [4] Kobayashi, Y. On two Relations Representing Some Structural Properties of Semigroups, Proceedings of the 17 th Symposium on Semigroups, Languages and their Related Fields (1993), 32 - 41.
- [5] Kobayashi, Y. On Some Classes of Translation Semigroup, Proceedings of the 19 th Symposium on Semigroups, Languages and their Related Fields (1995), 25 - 30.
- [6] Konieczny, J. Green's Equivalence in Finite Semigroups of Binary Relations. Semigroups. Semigroup Forum 40(1994), 235 - 252.
- [7] Kobayashi, Y. On Distribution of Idempotents of Semigroup, RIMS Kokyuroku 960 (1996) 100 - 107.
- [8] Levi, I and Wood, G. R. On Automorphisms of Translation Semigroups, Semigroup Forum 1(1994), 63 - 70.
- [9] Schein, B. Regular Elements of the Semigroup of All Binary Relations. Semigroup Forum 13(1976), 95 - 102.
- [10] Schein, B. Noble Inverse Semigroups with Bisimple Core. Semigroup Forum 36(1986), 175 - 178.